Fill in the blanks with most suitable answer.

They don't know English, ?
a) do they b) has he c)isn'tit d) hasn't he

If sound is to silence, then light is to .
a) bulb b) dark c) tube light d) sunshine

Ladies and

a) lords b) gentlemen c) children d) women
Shivtej owns a of cars.

a) forest b) fleet c) forests d) fleets

Identify the kind of sentence.

How stupid of me!

a) Assertive b) Imperative
c) Interrogative d) Exclamatory

Find the word spelt correctly from the given words.
a) propose b) prepis ) prapose d) proposee

Identify the gender of the given word.

Plant
a) masculine b) feminine
c) neuter d) all three

Select the word that is antonym of the given word.
Defeat
a) War b) Lose c) Win d) Victorious

Grellel f&oear HEITET el TeT. G e e UTe] Sdell o} TReATdegredr Sl Hiorcl
W, W, 39, ¥y, ?
a) 3 b) W c) 3 d) &

Look at the pattern numbers shown below.

21,29, 37,45,?

If the pattern continues in the same way what will be the next number?
a) 23 b) 27 c) 53 d) 61




10.

11.

12.

Grolel TATIegr=ar el AUy T&IAT QM.

/“’° “°\
/?q s | = eq\

a) o b) goo
Find the missing number?

50 50
/25 25 25 25 \
a) 50 b) 100

C) goo00 d) go

c) 1000 d) 10

Grell feerear Sl Reprar Sl slordr JEar dser?

2
+13Y

=]
a) |:|=8 b)|:|=‘—3

c) |:|=8 d)|:|=é

Find the missing number in the following addition?

129
+735

se ]
a)|:|=4 b)|:|=5

RY & TE&IT e Fe forgrer?
a) gleTer aa

b) &leT gl TR

c) 91 a¥ IR

d) aifaw

How to write the number 224 in words?
a) Two Hundred and Twenty Four

b) Two Two Four

c) Twenty Two Four
d) Twenty Four

——

c)|:|=6 d)|:|=8




13.

14.

15.

16.

17.

18.

19.

' OId &R ' & AT 3 et g

a) bolo b) Wooo c) oo d) ko

Write the number 'Seven Thousand' in numerals?
a) 7070 b) 7000 c) 700

d) 70

R, ¢, ¥ T U dIR GIVIRT HISITT A FH FE&IAT HIUTAT?

a) ¥0 b) 1Y c) ¢R¥
Which is the largest even number using digit 2, 1 and 47?
a) 421 b) 214 c) 124

2 & fhell TATOT 39 fha) I fhAa oY Bisar?

a) ¥%9Y b) 9y C) bRY
What is the price of 35 kg of wheat at a rate of Rs. 17 per kg ?
a) 495 b) 595 c) 795
¥ R 3
— — _ ="
? :_ ? * ? ¥3 &
a) - b) — C) =

) 3 ) 3 ) 3
4 2 3
-4+ -4+ =—=7
3 3 3

o o 423 X
a)3 3 ¢ 3
GTelleldehl olT dy HIuT?
a) Ry b) ¢QRe C) o0y
Which of the following is a leap year?
a) 1994 b) 1990 c) 2004

& oI, o THIT FguTal fohdl Holl?

a) €90 AT b) €3 Al c) &oy fHel
6 L and 50 ml makes how many ml|?
a) 650 ml b) 65 ml c) 605 ml

rellordehT RIS AU 3fee9ere shiorda?
?) "X Q) Gar 3) @ofY
a) ¢ 3for ? b) 2 37foTr 3 c) ¢, 3or 3

Cow is the source of which of the following food items.

1) Cream 2) Curd
3) Butter 3) Honey
a)land?2 b) 2and 3 c)1,2and3

d) 892

d) 412

C) ¢’

d) 895

o
o —
oL

d)

d) w03

d) 2002

d) €oyo fHGIT

d) 6050 ml

¥) e
d) ¢,3,3 30T ¥

d)1,2,3and 4




20.

21.

22.

23.

24,

25.

26.

3R 99 fAaar.

a) AT STod SUIH Aed A - Yoleled TEAT

b) gTerdTellay TIIAUT dad - HAvoll TEAT

c) RRTAT Y AETAT WOy Wgrafdd - adeT FEdm
d) fFeaan gery RRERR ehd - 3cdold AT
Select the incorrect option.

a) Helps in producing babies - Reproductive System

b) Controls our actions - Nervous System

c) Provides oxygen to all parts of the body - Respiratory System
d) Removes wastes from the Body - Excretory System.

EFATUETT JRIRMAT a7 ............... 3.

a) Y b) STeiE c) JEd d) a 31T c =&
Light travels than sound.

a) slower b) faster c) longer d) Botha &c

GrefTeTdenl el el hellel qTaq Aehcll?

a) dr b) HFd c) 5-Hd d) ardhr a9
Written message can be sent through .

a) Telegram b) Fax ¢) Email d) All these
AT ST Fledfash I I T Wer g ... FEUTAT.
a) fayaga b) 3 c) &% d) 3reRgd
The imaginary line on which the Earth is tilted is called

a) Equator b) Axis c) Cancer d) Tropic

el faEera eUse 3iear.

a) && b) WieaT c) A d) %ol
Find the word not belonging to the group.
a) Stem b) Branches c) Root d) Flower

g8 Ucsh Use BT,

a) BT 30T olig b) e 3o Brew
c) hiorIIH 30T iz d) 3ifegsta 3nfor gRIse
What are the constituents of bone?

a) Phosphorus and Iron b) Calcium and Phosphorous
c¢) Calcium and Sodium d) Oxygen and Hydrogen

GTolToTdehl VRUATHATST HATAT dTIX gl TTeY.

a) &3 b) Feuew c) TSAT d) TRHI
Which one is not used for hearing?
a) Radio b) Speaker c) Spects d) Taperecorder




27.

28.

29.

30.

31.

32.

33.

34.

35.

GrelTeltehl HIUTAT erdid Ifdst =adid.

a) A b) sar c) derom
Which product does not contain Proteins?

a) Meat b) Onion c) Peas
............... T SetsaTd AHl.

a) e b) Y c) fetar
Which colour is not in the Rainbow?

a) Indigo b) Orange c) Green

Tl ol IS clahrdl.
a) 2MaScl b) TR C) FHITHAT

Pl
The garbage in the house should be thrown in

a) School b) Road c) Garbage box

GrelleT YehT HIUTAT LT IIUATGAR Bl =T8T
a) FloRT b) gaTaoT c) fgaama

Which of the following diesases does spread through water?
a) Cholera b) Dysentery C) malaria

TeTa®e] HIUTHTAT G2dT HI0TeAT WM fedel?

a) el b) &EX c) gre=ar
What was the colour of the Earth seen by man from the moon?
a) Redish b) Bluish ¢) White

AP 3T TsTPRAR IO ATAT FHII FFUTATT?

a) TSIemer b) 3TAHRIAET c) EFAAE
What is known by "Ruling by the People?"
a) Kingdom b) Autocracy c) Dictatorship

d) gu

d) Milk

d) 9ier

d) White

d) ERTETeY

d) Outside house

d) Blackish

d) SThemgr

d) Democracy

WARAT TIET YUled Ghlelld GrEATedr AETuT=] g¥ehd ST FEoTdTd?

a) TId q&dsh b) dTadr c) Tramater

To purchase the grains from fair price shops, is required.
a) Pass Book b) Receipt c¢) Ration Card
ARIRSPEAT ........... JdaTdT dell el dlfger

a) 4 b) ol c) I

Citizens must pay in time to time.

a) Money b) Loan c) Tax

3TIeT ISTEFSITAT Tohdl @1 38d?

a) IR b) dieT RIE]
How many colours are there in our national flag?
a) Four b) Three c) Five d) Two

R RE]

d) Letter

d) grofY

d) Water

d) g




36.

37.

38.

39.

40.

41.

42.

3RAYINT ATH WU HIUTT e drefad =87

a) ddell b) arer c) geralr d) sradr
Which instrument were not played by the stoneage people?
a) Tabala b) Drum c) Halagi d) Flute

TECTAT ¢aTvT BdToflell S FUTATd?

a) digceh b) s« C) SIMUR d) @rseft AT #Hr
What is called for 'give and take' process of things?

a) Transport b) Skill c¢) Trading d) Private Property
A § S Teh AS ..o gl

a) TR b) Hed c) Fgad d) ;T

The village was like a big ................ .
a) City b) Trouble c) Family d) House

greltel IR S[BUIR ge 9T faasr.

ATIROf, GO, OOy, ..............

a) fe=mor b) @reufy c) @d d) g@ofr
Select the matching word from the given group.

Ploughing, Sowing, Cutting, ...................

a) Seeds b) Digging c) Fertilizers d) Smoothing

Grelleldehr T AErerdian AE da AT Agr?

a) u3g b) arT c) T d) g3
Which of the natural power is not belived as god by people?

a) Rain b) Wind

¢) Farming & Agriculture d) Sun

e ITeleT FodTe AdAT T oo gad gid.

a) SrATAY b) 3sfdr c) S d) gfassdr
Maintaining discipline helps one to save both time and ...................... .

a) work b) Energy c) money d) prestige
Teh dRWel IAaR giell, TR GeTel AqaR fehell TG ISer?

a) R b) ¢ c) ¥ d) R

On 1%t it was Sunday. What will be the date on next Sunday.

a)9 b) 8 c)4 d) 2




43.

44.

45.

46.

47.

iaa< Tl THOT CICGINE TS 1

a) 3 b) ¥ c) Y d) &
How many squares are in the given figure.

a)3 b) 4 c)5 d) 6

IXY=23 AXE=4Y, (XR=7

a) €3 b) B c) W d) €%
3x4=12,9x6=54 8x9="7
a) 69 b) 72 c) 21 d) 64

g g Ot gar garh a8 ¢ a¥ g . Oiver gRe 98T 3 auie) Jge 3R, o
g g f&di?
a) ¢ a¥ b) & a¥ c) ¢¢ a¥ d) ¢ a¥

The addition of the ages of Sachin and Suarabh is 19 years. Saurabh is 3 years smaller than Sachin.
What is the age of sachin.

a) 8years b) 9 years C) 11 years d) 12 years

3TISAT ST Wiellcldeh! HIUTAT diddid afaerdar Argr?
a) R b) srsT c) 3ER d) SenfiAe

In which of the following facts is there a variety in our country?

a) Style of dressing  b) Languages C) diet d) Pride of the Country
T YhRTAT HHT AT &,
a) gfasar b) &siT c) fFaa d) ad«

All the types of the works have an equal................... .
a) prestige b) level c) value d) salary




48.

49.

50.

51.

52.

53.

@mﬁﬁaﬂmﬁwmﬁwwaﬁ.

a) e b) s ORELIGH
Which of the following is not major means of transport.
a) Tanga b) Bus c) Aeroplane

Grolloldehr ST TaIYaNa 3Te?

a) gdY b) I1E c) I
Who has its own light?
a) Earth b) Planets c) Moon

39T & HIUIHIS! Wrellerdehl AT IR 3.

a) 3ol b) AT

c) INIRYS d) §9 99T Iy
What is needed to start an Industry.

a) Energy b) Workers

c) Market d) All are correct

Glellerdehl ShIUTAT JATdT 3T ATE).
a) AR U3 T8d

b) SRR €T Har gia

c) f&er dHigaTa are g

d) @ Aada

What is not advantage of forest?

a) Weather becomes cool

b) The land errosion reduces

c) The nature beauty increases

d) Minerals are obtained

g g1 gedrn e,

a) AT b) STaaar c) 39Ig
Moon is Earth's

a) Friend b) Nearest

c) Satellite d) Planet
TR TUlR LTl I geifder .

a) e b) dera c) Jad
What is denoted by the brown colour in the map?

a) Rivers b) Lake C) Mountains

d) Yed

d) Railway

——
(0]
| —



54.

55.

56.

57.

58.

59.

60.

61.

62.

ST o 9 T AT,

a) AT b) HEATET c) HBYTS
Which one of the following is not the mountain range?

a) Himalya b) Sahyadri C) Kalasubai
ACIIEE Ir TSATT 3R,

a) 3TarA b) feg® c) ufae Samel
Darjiling is situated in .

a) Assam b) Bihar C) West Bengal
FAERTSCIAT afRaAd TG 37Te.

a) 3Er b) SeMerAT 3UATIR
c) dresr d) 3

................... sea is situated at the west side of Maharashtra state.
a) Arabian b) Bay of Bengal c) Red

relleTdehl o1 Tdar U 318,

a) g b) #Es c) HIIH
Which is the Kharip crop from the following.

a) Wheat b) Karadai c) Cotton
39T TS TofT SIoTAT?

a) [g b) &ir c) arg
Which is our national Animal?

a) Lion b) Elephant c) Tiger

faecufelel  ereg 3Nwar.

HiIfhodl X

a) Hifehas b) 9T c) PP

S STEIEN, SASdle, Sliaeid df T oo FII?
a) srd b) RIaér c) fomx

qraTdr SRS a8 Wil HIoma?
a) 3erd b) BYsaR c) aram

GrelleTdehl SIUTAT 2TeG TAIToIdlT Tar.
a) 1Y b) & c) I3

d) STeTETE

d) Balaghat

d) fgATaer

d) Himachal

d) North

d) 39

d) Sugarcane

d) AT

d) Jmeary

——
o
| —



63.

64.

65.

66.

67.

68.

69.

qélel T et Ase JNea.

a) AhTATd b) ThTATT C) IHRATd d) 3hHATT
GrelTeldehl Tehadel! QreGrar gay faqsr.

a) 3T b) Fes c) HadT S RET:GII
GTelleTdeh! SISersE oIelell QUeG HIUTAT?

a) Hgars b) TRER C) FHooidcel d) g

QrelTel YRATce UigedT gerar ga-ar qerl S JaY 3¢ oar daer fae=ar gerar diear
qerell Mg, § oaTid Bgsl YReATIesredl Sel Ay Asq I Usel o ol

o 1 ¥ W :?

a) ¢ b) ¢2 c) ¢3 d)

In the following questions, the realation of the third term with the fourth term is the same as that
of first term with the second. Therefore, choose the correct alternative to foruth term.
10 : 4 :24 : 7
a) 12 b) 11 c) 13 d) 15

IJE ;g dRT : ?

a) e b) ¥& c) Ig d) erfer

Planet : Earth : Star : ?

a) Mars b) Sun C) Moon d) Saturn

/NN ATO O

a) b)

C) d)

gAh fSeedrd T ... 3.

a) JAHIARIT b) FATT c) garad @fAdr  d) et aRwg
Every district has a .............. .

a) Gram Panchayat  b) Ministry c) Panchayat Samiti  d) Jilha Parishad

10
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70.

71.

72.

73.

74.

¢ aTofeT ¢o TATE TsATSAT GeT HIedTd fohell AT HiA glgel?

a) )o° b) vs° c) ¢o° d) ¢s°
What will be the angle between to hands of Watch at 8.10 .
a) 90° b) 75° c) 80° d) 85°

qiaa< ATl THOT frdr BenioT 3Mga?

a) b) ¢4 c) b d) QY
How many triangles are in given figure.

a) 21 b) 15 c) 7 d) 24

BT JETeTiehT shioTedm Femell HY Hvard Mase?
a) ST AT gl Hidh FIA

b) St Fell Aga WS a

c) S AgH ATFIRN Wescll

d) S ATEAT g GG I @ @I TEHN g
With which of the following boy will you like be friend?

a) one who always praises me.

b) one who always gives me something to eat.
C) one who always plays with me.
)

d) one who shows my mistakes and shares my happiness and sorrows.

feeear i el guaTd 37 fAqsT.
R, 28, 8%, 3, ?

a) 8¢ b) %€ c) 3 d) 9R
Find the number belonging to the number given below.

2, 11,19, 23, ?

a) 18 b) 16 c) 37 d) 52

TehT Hlchideh HTNT A=¥,B=9,C=€ 30T d¥ A+BxC=?

a) ¥ b) 29 C) g0 d) 3%
In coded language at A=4, B=5 and C = 6 then WhatisA+BxC="?
a) 54 b) 15 c) 120 d) 34

[ n)



75. e ; feaedw wf@e ;2

a) @& YREINED c) Hoh d) guceh
Drama : Director : : Magazine : ?
a) Author b) Publisher c) Printer d) Editor

76. JCId SHOTAT 3fhcirdr SHHATH ToIgT.

UReT 3TehedT
N >
34X 3ATehcdl
I AN B N
a) b) C) d)
Find the Frame that fits in the following group.
Question fig.
AN L] >
Answer fig.
I A N
a) b) C) d)

77. IATRTgAT Sel heATel YUY 3HThcll QMe.

gRe HThcdT
s B= =5 '
o é = o1l ?
ELRgIC )
Fl= O e &=l
Mo =@ E=
a) b) c) d)

Find the figure which should be instead of ? .
Question Figures.

e B= =[e) o
EB= 11[= o[l :
Answer Figures.
Cl= = @ (O]
Jlio] == o =E
a) b) c) d)

12
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78.

79.

80.

81.

82.

i HIeX 3R Tk 318 dldel ¥ ¥ HeX Jaiax fohdl 38 dradr Idia?

a) ¢9 b) %<& c) ¢¥ d) g
If trees are at a distance of three metres in a distance of 45 metres, How many trees are there?
a) 15 b) 16 c) 14 d) 17

], 3, %1, R, JTdlT g@ﬁ} e 3dr.

a) % b) b c) ¢& d) R
Find the odd man out. 9, 13, 17, 22, 25
a) 17 b) 7 c) 16 d) 22

ST AT YT 3T 3T, AT CoNuuer 3T g, 37T TAUET 39 AT dX FaTd Har

39 SHI0T?
a) 37T b) feela c) AU d) 37817
Ajay is taller than Abhay, Abhay is taller than Dileep. Ajay is shorter than Ramesh then Who is the

shortest?
a) Ajay b) Dileep c) Ramesh d) Abhay

GreiloTdehl ITeTd o JTUMR Ue 3.

a) JéHeT b) fAeNHEX c) farex d) st
Find odd man out
a) Centimeter b) Milimeter c) Liter d) Decimeter

Greitel ARATA Reprear Sreft oty g ar ISa?

23 R g0
¥ R ?
3 ? R
a) ? b) 4 c) R d) ¢
Which number should occure in the place of the question mark.
12 2 10
4 2 2
3 1 2
a) 2 b) 5 c) 12 d) 8

13
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83.

84.

85.

86.

87.

ASTRYS 3Mehciral fI&T0T & @ Teg 9I =fiendia forer.
heFel dcjdlciel 3ieh FHI0TA?

c) 30,8 d) &8

Observe the given venn diagram and answer the following question.
which are the number only inside the circle.

) 3,79 d) 6,9

02y T el TR faold HRAT Hior?

a) derrer aeardt b) HelTem Ig®H SIS
c) ferelr A d) dfee aAfeamar
Which of the following Indian won the Nobel Prize 2014?

a) Kailash Satyarthi b) Malala Yousaf Zai
c¢) Hiroshi Amano d) Patrik Modiano

B : EM :: ?: 0T
a) LP b) LQ c) LO d) Qz

AT /Y T AT IRAT ARSI ATCTTH I TleiTeldehl VAT AT B 3?2

a) daIa b) gATT c) gqor d) 3rFRTadr
In which of the following city is this year’s 95 Akhil bharity Marathi Natyasammelan?
a) Belgaon b) Ghuman C) Pune d) Amravati

TGrefToehT T HRAT AT e 318 7?

a) IRET b) FfAger c) HET d) og
Which of the following is the Indian classical dance?
a) Garba b) Kuchipudi c) Bhangara d) Chhau

14
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88.

89.

90.

91.

92.

93.

94.

HAERTSEr RS0 HAT HIoT I8 d?

a) THaATT @3 b) fa=lle dras

Cc) Tehrel AgdT d) deheT He
Who is the Education Minister of Maharashtra.

a) Eknath Khadase b) Vinod Tavade

c) Prakash Mehata d) Pankaja Mundhe
FERTSEI SYHTIHAT HI0T 3Ted ?

a) ¢dg HeUTar b) I AT AR

C) Thelld TSH d) I sl Aed
Who is the Deputy Chief Minister of the Maharashtra.

a) Devendra Fadanvis b) Ajit Pawar

c) Eknath Khadase d) None of These

Tl &7 FAhr & el areq AoTean Ea fud 3mg?

a) 3T b) gareTg c) 3iRemEre d) qor
The Historical ' Bibi ka Makbara' is situated in ................... .
a) Agra b) Hyderabad c¢) Aurangabad d) Pune

GrelloTdehT HATAT S- HRT FFUTAT.

a) Fofolell TSl b) TR SATelell FAlETSol
C) Uge 3Helell Hehol d) ar dfr T

Which of the following is known as E- Waste.

a) Rotten Vegitables b) Non working mobiles
¢) unconditional cycale d) None of these

AR Jod HAT HIUT 3Mgd?

a) A 9] b) Fellex Wi
C) AT Weel d) HHAAT SeTai
Who is the railway minister of the India?

a) Suresh Prabhu b) Manohar Parrikar
¢) Manoharlal khattar d) Mamata Banariji

FITT [Sogdra ' 3iT9or T 3% vl ' 3gd?

a) quI b) 3TEHCTIR c) 3iRameTe d) ST
In Which district 'Ajenta and Verul Caves ' are located.
a) Pune b) Ahamadnagar c) Aurangabad d) Latur

HERTSE TSIl Ufgell HYOT ATER 5@t Slordr?

a) g b) TotIga c) AR d) aror
Which of the first full literate district in Maharashtra?
a) Pune b) Sindhudurg c) Nagpur d) Thane

15

——
| —



95  W@relleTdehl shivTd @Y Ueh ATET 2

a) HH b) Farr c) digs d) g
Which of the following is the not kharip crop?
a) Cotton b) Jawar c) Rice d) Wheat

96. FHERTSCIAT 3USTYTH AR HIUTA?

a) AR b) gor c) #eS d) FETadr
Which city is the second capital of Maharashtra?
a) Nagpur b) Pune ¢) Mumbai d) Amaravati

97. 12 JTdRIdT Trelteldehl U= SIdT 3R,

a) TSTAT HE b) HGIcAT SAfAaT Pol
c) ARl dREE d) IERIT ASh

12 January is a Birth Anniversary of .................... .

a) Rajmata Jijau b) Mahatma Jyotiba Fule
c) Maharani Tarabai d) Vasantrao Naik

98. HRAAT YeMHfIh AT r&e FIUITATS WlelleTdehl HIUTAT qJ&T ATl e ?

a) AF.T.TH b) g.dr.uw.4. c) TH.4r.Ta. . d) IR.E.TAS.
Which of the following examinatation should be given to enter in the Indian Civil Services?
a) ILAS. b) U.P.S.C. C) M.P.S.C. d) R.T.S.E.

99. ' TEITY 3T IEACT ' g ¢¢R HIEY 3Tl YdT HIvIcdl Todld SHRTAT A 3Te.

a) HERTSE b) TSRIA c) HETYSr d) ghRrom
In which of the following state 182 meter high, ‘Statue of Unity’ is being erected?
a) Maharashtra b) Gujrat ¢) Madhypradesh d) Hariyana

100. 2 3feFeiaR Q088 Al HIVTCAT HTHAAE Feard FTell?

a) A o1 sf3ar b) STeT &eT AT

Cc) ¥aT& ARG FTRIATA d) ferer amer iR
Which mission is started on 2 oct 2014?

a) Make in India b) Jan Dhan Yojana

¢) Swachh Bharat Abhiyan d) Nirmal Gram Abhiyan

16
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